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the Answer Sheet due to wrong encoding of either Application No. or Roll No. or both by the candidate,
his/her Answer Sheet shall not be evaluated and shall be rejected straight away.
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as above for that question i.e. one-fourth (0.25) of the marks assigned to that question will be deducted

as penalty.
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T.R.C, :

Indicate the correct sentence :

(A)
(B)
(©)
D)

Sushil always uses to disagree with me.
Sushil is always using to disagree with me.
Sushil always used to disagree with me.

Sushil has always been used to disagree to me.

Change the following into passive voice :

My father took me to a food-car.

(A)
(B)
(C)
D)

I am taken to a food-car by my father.
I have taken a food-car by my father.
A food-car was taken by father to me.
I was taken to a food-car by my father.

Change the following into active voice :

Is the television being repaired properly by the engineers ?

(A)
(B)
(®))
(D)

Do engineers repair the television properly ?
Are the engineers repairing the television properly ?
Is the engineer repairing the television properly ?

Have the engmeers been repairing the television properly ?

Choose the correct sentence :

(A)
(B)

©
D)

Annie repeated the speech several times lest she should forgot the details.

~ Annie repeated the speech several times lest she should forget the details.

Annie repeat the speech several times lest she should forget the details.
Annie repeated the speech several times lest.she forget the details.

Indicate the incorrect sentence :

(A)
(B)
©
D)

Though really fed up, I kept listen to his unending song.
I was really fed up, but I kept listening to his unending song.
Although I was fed up, I kept listerimg to his unending song.
I kept listening to his song, although I ﬁrasn’t interest'ed..
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6. Indicate the option which can substitute the underlined segment.

I never invest money unless I am really interested.

(A) however I am interested (B) if I am really interested
(C) if I am not really interested (D) whenever I am not interested
7. Choose the correct indirect form of the following :
Arun said to the manager, “Let me try once again.”
(A) Arun once again requested the manager to let him also try.
(B) Arun requested the manager to let him try once again.
(C) Arun requested the manager to let him to try once again.
(D) Arun asked the manager why he doesn’t try once again.
8. Arrange the following jumbled parts into meaningful sentences :
(1) the way for generic versions
(2) in countries where affordability
(3) 1is a real challenge
(4) of the drug for kids
(5) his decision will pave
(A) 24315
(B) 12435
(C) 43521
(D) 51423
9. Choose the correct antonym :
desolate
(A) populous (B) popular
(C) isolated (D) enchanting
10. Choose the correct synonym :
perfidious :
(A) trustworthy . (B) treacherous ’

(C) perfect . (D) misconstrued
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11.  Identify the place where the Spiti river meets the Satlyj river in Himachal Pradesh,
from the following : '

(A) Karcham -(B) Firnu
(C) Namgia (D) Kashang

wwﬁwﬁtﬁ%ﬁm@aﬁm,aﬁmﬁwmﬁﬁﬁmﬁwﬁ
¥ faadt ©

(A) Karcham (B) Firnu
(C) Namgia ' (D) Kashang
12.  Which following glacier is matched correctly with its district in Himachal
Pradesh ? |
(A) Miyar - Kinnaur
(B) Bhadal - Chamba
(C) Dudhon - Chamba
(D) Bhaga - _ Lahaul-Spiti
Frn frefofer fere e Ry § o3 et & @ wd ik ¥ 2
(A) Miyar - Kinnaur
(B) Bhadal = Chamba
(C) Dudhon - Chamba
(D) Bhaga < Lahaul-Spiti

13. The Seraj valley is located in which district of Himachal Pradesh ?

(A) Chamba { (B) Kullu
(C) Sirmaur (D) Kangra
fors ot femre wRw ¥ fom a8 fegm ¥ 2
(A) = (B) el
(©) fawr (D) ST
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14. Identify from the following towns of district Kangra of Himachal Pradesh, which

had the largest female population, as per census-2011 :

(A) Kangra - (B) Palampur

(C) Jawalamukhi (D) Nurpur
Wmﬁmﬁﬁ%ﬁﬂﬁf@ﬁﬁ(towns)ﬁ@mwmﬁmﬂﬁ
a6 2011 F R § wad e weew SEE @

(A) HITET (B) UHY
(C) aTeEl D) T

15. Before its merger with Himachal Pradesh in 1966, the Nalagarh tehsil was a
part of which following district ?

(A) Ambala (B) Ropar

(C) Panchkula (D) Mohali

¥ 1966 # T TEEE ¥ fenrw wev § faom ¥ v 7 fey Fefaten
HT o9 A ?

(A) ST (B) TS

(C) e (D) werett

16. Which following is estimated a decrease of capital outlay. for 2024-25 from the

revised estimates of 2023-24 in Himachal Pradesh ?
(A) about 3 p.c (B) about 11 p.c

(C) about 8 p.c (D) about 12 p.c.

femraa WRw § $oft =@ a6 2024-25 F A § @ 2023-24 & "M@ ST{AE |
frefafen feadt &9 & 2

(A) <Y dF gfaed . (B) &MY ™R wiavd
(C) w38 gfawma (D) T 9RE Wiavra
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17.  Identify the rate of interest which will be charged from students under the
Himachal Pradesh government scheme. “Dr. Yashwant Singh Parmar Vidyarthi
Rin (Loan) Yojana” in 2023 :

(A) 4 pec (B) 1 pc
(C) 3 pc D) 2 p.c

fedrerer o1 TRFR F 1. Jve fie TR R B9 (ad) A a9 2023 &
ot ¥ N A =W R F T R

(A) =R yfaem (B) ws wfaem
(C) < wfaema (D) [ g
18.  ‘Which following is correct about Himac_hal Pradesh in 2023 ?

(A) Agriculture loans constitute 19 percent of total loans extended by banks
here.

(B) ICICI Bank has 40 branches here.

(C) Kullu district has the lowest number of bank branches.

(D) Lahaul-Spiti district has the lowest number of bgnk branches.
ad 2023 # fema W & 9 § P Fefofed W@ ¥ 2

(A) i R Tl FW F F pa w1 w1 19 wava T

(B) ICICI % =t @&l 40 wmend ¥

(C) oeq et & wod w1 &% wmant ¥

(D) wrRE-wf e & ol 9 9% went §)

19.  Identify the location of Basheshar Mahadev temple’s district of Himachal Pradesh
from the following :

(A) Sirmaur (B) Kullu

(C) Kangra (D) Mandi :

et wewr & e wERa % R # fufs F) vean Pt fd @ AR
A faom (B) Fq

(€) wrTeT @
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20.

21.

22.

23.

How many National Parks of Wildlife Sanctuaries are located in Himachal
Pradesh ?

(A) Five (B) Six

(C) Four (D) Two

femrael wew # National Parks of Wildlife Sanctuaries fodi & ?
(A) d= (B) ®:

(C) =R O

Which of the following is the correct name of painter, who has made the painting
of Gaddi Belle ?

(A) Amrita Shergill (B) Nicholas Roerich

(C) Vidya Stokes (D) Sobha Singh

Gaddi Belle ®1 fassan s9M ot fear &1 @@ 9m frafafed § & #F ® 2
(A) s IRfr - (B) frem W=

(c) fomn €= (D) = fag

Identify the number of Herbal gardens in Himachal Pradesh upto 2023 :
(A) Two . (B) Seven

(C) Four : (D) Five

o 2023 9% fewrael wew # €9t Herbal &Ml 1 TeuH =iy :

@ A (B)

(C) =R : (D) d=

Which following is the correct contribution of GDP of tourism in Himachal Pradesh
in 2023 ? :

(A) 07 p.c (B) 10 p.c

(C) 09 p.c (D) 06 p.c

ad 2023 # femree wew # W w1 GDP # ¥ dvem frfefen wmE 2
(A) 07 wfowm ' (B) 10 wfaww

(C) 09 W (D) 06 Wi
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24.

How many dwellings have been sanctioned under the Mukhya Mantri Awaas

Yojana in Himachal Pradesh until December, 2023 ?
(A) 675 : (B) 756

(C) 533 (D) 728

g@ﬁmﬁw%mmuﬁwﬁﬁﬂw QOQSWWWW
®I e faeft & 2

(A) 675 (B) 756

(0 533 (D) 1728

25.

26.

T.B.C.

Identify the number of Silver Medals, which Himachal Pradesh has won in Khelo
India Youth Games 2024 from the following :

(A) Eight (B) Five -
(C) Four (D) Ten

%qﬁawm@ﬁgﬁmquﬂwzomﬁaﬁﬁquaﬁaﬁmﬁw
frefafes @ =i .

(A) 08 (B) 05
(C) 04 (D) 10

Identify from the following, who was the Speaker of the Lok Sabha from 2009
to 2014 :

(A) Sumitra Mahajan (B) Somnath Chatterjee

(C) Manohar G. Joshi (D) Meira Kumar
atfzoogﬁzoufwhasamawﬂaﬂﬁwﬁmﬁaﬁaaﬁﬁm
(A) g wesH (B) dm wesi

(C) T . it (D) #RI FER

t 2024/JA/1—B 8



27.

28.

The Pradhan Mantri Gram Sadak Yojana was launched by the government of

India in :
(A) 2005 (B) 2000
(C) 2003 (D) 2006

e TR A GUE A UM we® AN wE S HO?

(A) 2005 (B) 2000

(C) 2003 D) 2006

Consider the following about West Bengal :

(i) Its agriculture accounts for 30 p.c. of its GDP.

(ii.) Its area under agriculture is 45 p.c. of its geographic area.l

(iii) The jurisdiction of its High Court is over both West Bengal and Andaman

and Nicobar Islands.

Gv) Tt celebratés the Durga Puja.

Gl et i W41 oo b

A) () & Gi) (B) (i) & (iii)

(©) - (i) & (v) D) Gv) & @)

ufvgg ame & SR § frefafes | faEr i

() TEH ﬁq 9% Sh.ELd. #1 30 whwm ©

(i) vaw e & Hfu % faw 45 wfeE T

Gty T W % R W ST qen seA ae Fee g W <6
R gl |

(iv)‘_)'S'Hﬁ M gem WA S ¥

e ST F 994 fAEfated | SIS

A) (@) & (i) B Gi) & Gid)

(C) Gii) & (iv) D) Gv) & @)

T.B.C. : 2024/JA/1—B 9 PO



29.

30.

31.

32.

T.BC. :

Identify the percentage of share of women MPs in 16th the Lok Sabha
(2014-2019) :

(A) 125 pe. (B) 14.9 p.c.

(C) 139 p.c. (D) 10.7 p.c.

1651 & @ (2014—2019)ﬂw%mvmﬁaawma;Mﬁwaﬁm
(A) 125 wfoer ' (B) 14.9 wfaera

(C) 13.9 wfawme D) 10.7 wfava

The Vistara Airlines is a joint-venture between -

(A) Tata Sons and Swiss Airlines (B) Tata Sons and Singapore Airlines
(C) Tata Sons and French Airways (D) Tata Sons and British Airways
form waesw Wy wfEs feed o § 2

(A) Tata Sons and Swiss Airlines (B) Tata Sons and Singapore Airlines
(C) Tata Sons and French Airways (D) Tata Sons and British Airways

Where was set-up the provisional government by Subhash Chandra Bose in
1943 ?

(A) Germany ' (B) Turkey

(C) Myanmar (D) Singapore
a9 1943 F gAY W A9 ¥ Afm wER w9 o 2
(A) S (B) TH -

© = D) famg

Identify the woman scientist who was associated with Chandrayaan 3 from the
followmg

(A) Lakshmi Srivastava . (B) Chhaya Kamboj

(C) Ritu Karidhal (D) Mrigna Pawar

A3 % WY eifew wfeen A9t veAm frefufed @ S
(A) Lakshmi Srivastava (B) Chhaya Kamboj

(C) Ritu Karidhal (D) Mrigna Pawar

2024/JA/1I—B 10



33.  Anita Ratnam is a famous dancer of which of the following dances ?

(A) Bharatanatyam . (B) Kathakali
(C) Odissi (D) Manipuri
st wm g frefafea 7@ St 99 T0H6 8 2
(A) WGgH ' (B) Yl
(C) snfeHt (D) wforgd

34. Which following annual meeting of World Economic Forum was held in Davos
in January, 2024 ?

(A) 5l1st (B) 52nd
(C) 54th (D) 53rd

firg FrEfefiad World Economic Forum &1 385 (meeting) SFad, 2024 ¥ €& (Davos)
g ?

(A) 518 (B) 52df
(©) 547 ' D) 534
35. Identify from among the following, which is the largest lake of Africa ?
(A Chad ., (B) Victoria
(C) Tanganyka . (D) Nyasa
AFH FT TN 9 e w1 Teun Frefafed @ FfC
(A) Chad (B) Victoria
(C) Tanganyka (D) Nyasa

36. Who is Simon Stiell ?
(A) -I-Ie is a German Chancellor
(B) He is U.S.A's Treasury Secretary
(C) He is the Foreign Minister of Russia
(D) He is the Climate Chief of UNO.
Simon Stiell 9 ¥ ?
(A) TE A H AR ®
(B) 9% 4.W9.T. &I Treasury Secretary ?
(C) =€ ¥4 & fadw &t ¥
(D) @& T30 1 Climate Chief &

TB.C. : 2024/JA/I—B | 11 P.T.O.



37.  Identify the place where the Secretariat of the SAARC is located :

(A) Karachi (B) Dacca
(C) Kathmandu (D) Kabul
SAARC & df¥aled & M &1 Yg9H ®IWT
(A) =t (B) =
(C) wIeHIg (D) =rEga
38. In which year’s Olympic games, the Olympic song was taken for the first
time ?
(4) 1920 ®) 1916
(C) 1924 (D) 1928
fre ad & oicifrs @ell § siwifys T wom SR fam T 2
(A) 1920 (B) 1916
(C) 1924 (D) 1928

39. . In which Article of UNO, the Security Council has the Veto power ?

(A) 25 (B) 30
C) 21 D) 27
3. H fFE ym (Article)'ﬁ e ufteg # i ofer firedt & 2
) 25 | (B) 30
© 21 ' D) 27

40. Identify the date and month of Human Rights Day :
(A) 10 December (B) 14 December
(C) 10 November (D) 14 November
ArafysR fiag &t fafs qo €% & ™ 1 ve=m Fifv .
(A) 10 femmr (B) 14 fewmar
(C) 10 Fw=R | (D) 14 Fa=R

T.B.C. : 2024/JA/1—B | 12



41.

42.

43.

45.

N et wx stz E, 9% ofEA a@ ¢ @ifha SYIE H YRR € —

(A) T ITEEE (B) fasiwur Iuamed
(C) fea-fadoo Sy (D) T | HE &

R T o wE @ whe wAa @ ¥ feg s o w0 @ g R
Td & ot ¥ W H g F A FOTER T -

(A) & I (B) fag g

© wgw A (D) wfeet 9=
frefafen # v=EeR & —

(A) U (B) &

(C) I (D) e
@Wﬁgﬂﬁﬂwmﬂﬁﬁﬁliﬁfﬁﬂﬁ%—

(A) wfasreo

~(B) TurETEs®  feeem
(C) ffyaa wfmmErEs fagmo

(D) e e g
€ IEEE T 4 Y R TN TH I H YIE HRE H FER §F —
(A) (B) sferTon

(C) 3MUEH (D) HYRH

T.B.C. : 2024/JA/I—B 13 P20,



46.

47.

49.

- 50.

Mt 79T T ke gw W) Yaife W e geR w1 s 2
(A) TeIEN (B) 37t

(C) HHurx (D) wEsifs

‘H13 W BE IR-9AR TE =g’ Al W e ¥ —

(A) .Wﬁﬁmﬁm—m?ﬁﬁaﬁr

(B) w18 ®t ¥t TH IR A WA Wl §

(C) fFdt = & ar 3m =1 wwar §, IR-IR &

(D) Waamémanqﬁanﬁl

fafafes § @ o v ‘i’ v =1 gaREt aE § 2

(A) gfea | (B) @

© T . D) =[

ﬁaﬁmwwmﬁli@fﬁmwﬁwwm%—
A 7=

- (B) wWeEE faan

(C) TunefsH o

(D) wgw fEw

WW%-@W'mﬁgﬁaﬁl%@mqﬁ%—
(A) TavElyF: 9

(B) foran-fedroor

(C) =fysro gy=gays 33y

(D) THAMIEHT F=agayS 39 ?

T.B.C. : 2024/JA/I—B 14
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